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Q 1. Direction of unit vector of vector 𝐴 is: 

(a) Always in the direction of 𝐴  

(b) Always opposite to the direction of 𝐴  

(c) Always perpendicular to the direction of 𝐴   

(d) In any random direction. 

 

Q 2.  Which of the following is negative vector of 𝐴 = 2𝑖̂ − 3𝑗̂ + 4𝑘̂: 

 (a) 𝐵⃗⃗ = 2𝑖̂ − 3𝑗̂ + 4𝑘̂   (b) 𝐵⃗⃗ = 2𝑖̂ + 3𝑗̂ + 4𝑘̂ 

(c) 𝐵⃗⃗ = −2𝑖̂ − 3𝑗̂ − 4𝑘̂   (d) 𝐵⃗⃗ = −2𝑖̂ + 3𝑗̂ − 4𝑘̂ 

 

Q 3. Find the magnitude of vector 𝑃⃗⃗ = 10𝑖̂ + 30𝑗̂ : 

 (a) 10√10    (b)10√20 

(c) 20√10    (d) 45 

 

Q 4. Represent the given vector in 𝑖̂ & 𝑗̂ notation: 

    
 (a) 𝐴 = 5𝑖̂ + 5𝑗̂   (b) 𝐴 = 5𝑖̂ − 5𝑗̂ 

(c) 𝐴 = 5𝑖̂ + 5√3𝑗̂    (d) 𝐴 = 5√3𝑖̂ + 5𝑗̂ 
 

Q 5. Find a unit vector in the direction of  𝑃⃗⃗ = 𝑖̂ +  𝑗̂: 

 (a) 𝑃̂ = 𝑖̂ + 𝑗̂   (b) 𝑃̂ =
𝑖̂

√2
+

𝑗̂

√2
 

(c) 𝑃̂ = 𝑖̂ − 𝑗̂   (d) 𝑃̂ =
𝑖̂

√2
−

𝑗̂

√2
 

 

Q 6. Find a vector 𝑄⃗⃗ of magnitude 5 unit in the the direction of  𝑃⃗⃗ = 6𝑖̂ + 8 𝑗̂: 

 (a) 𝑄⃗⃗ = 6𝑖̂ + 8𝑗̂   (b) 𝑄⃗⃗ = 3𝑖̂ + 4𝑗̂ 

(c) 𝑄⃗⃗ =
6

√2
𝑖̂ +

8

√2
𝑗̂   (d) 𝑄⃗⃗ =

3

√2
𝑖̂ +

4

√2
𝑗̂ 
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Q 7. Find a vector of magnitude 3 in the direction opposite to the direction of 𝑐 =
1

2
𝑖̂ +

1

2
 𝑗̂: 

(a) 𝑃⃗⃗ = −
1

2
𝑖̂ −

1

2
𝑗̂   (b) 𝑃⃗⃗ = −

3

2
𝑖̂ −

3

2
𝑗̂ 

(c) 𝑃⃗⃗ = −
√3

2
𝑖̂ −

√3

2
𝑗̂  (d) 𝑃⃗⃗ = −

3

√2
𝑖̂ −

3

√2
𝑗̂ 

 

Q 8.  Find the resultant vector 𝑅⃗⃗, where 𝑅⃗⃗ = 𝐴 + 𝐵⃗⃗, if 𝐴 = 2𝑖̂ + 3 𝑗̂ and 𝐵⃗⃗ = 4𝑖̂ − 4𝑗̂ : 

 (a) 𝑅⃗⃗ = 6𝑖̂ + 7 𝑗̂   (b) 𝑅⃗⃗ = 6𝑖̂ − 𝑗̂ 

(c) 𝑅⃗⃗ = 6î − 7 j ̂   (d) 𝑃⃗⃗ = 𝑖̂ − 𝑗̂ 
 

Q 9. Find the resultant vector 𝑅⃗⃗ = 𝐴 − 𝐵⃗⃗, if 𝐴 = 5𝑖̂ − 3 𝑗̂ and 𝐵⃗⃗ = 3𝑖̂ + 7𝑗̂ : 

 (a) 𝑅⃗⃗ = 2𝑖̂ − 10𝑗̂   (b) 𝑅⃗⃗ = 2𝑖̂ − 4𝑗̂ 

(c) 𝑅⃗⃗ = 8î − 7 j ̂   (d) 𝑃⃗⃗ = 2𝑖̂ + 4𝑗̂ 
 

 

 

 

Q 10. If 𝐴 = 4𝑖̂ − 3 𝑗̂ and 𝐵⃗⃗ = 6𝑖̂ + 8𝑗̂, then magnitude and direction of 𝐴 + 𝐵⃗⃗: 

 (a) 5, tan−1 (
3

4
)  𝑓𝑟𝑜𝑚 𝑥 − 𝑎𝑥𝑖𝑠 

(b) 5√5, tan−1 (
1

2
) 𝑓𝑟𝑜𝑚 𝑥 − 𝑎𝑥𝑖𝑠 

(c) 10, tan−1(5) 𝑓𝑟𝑜𝑚 𝑥 − 𝑎𝑥𝑖𝑠  

 (d) 25, tan−1 (
3

4
) 𝑓𝑟𝑜𝑚 𝑥 − 𝑎𝑥𝑖𝑠 

 

 

 

 

 

 

 

 

 

 

 

Answer Key 
 

Q.1 a   Q.2 d     Q.3 a      Q.4 c     Q.5 b     

Q.6 b     Q.7 d      Q.8 b      Q.9 a      Q.10 b      
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